Math 200 - Quiz 4

Name k ey
February 7, 2012

Score

Show all work to receive full credit. Supply explanations when necessary.

1. (1.5 points) A sequence is defined recursively as follows:

Ml = 2, Mz = 3, Mn = 5Mn_1 - 2Mn_2, for n = 3,4.,5, e
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2. (1 point) Is the set of all small cars a well-defined set? Explain.

A/o) /T IS NoT " Cledrz (WHAT IS MEANT Bﬁ A

c
SMAW CAR, /L/ow SmALL 1§ A SmALL CAZ

3. (1 point) The set B is defined below using set-builder notation. Rewrite B using roster
notation.

{z| z e Nand 17 < z < 24}

B=$1718,\9,90, 2\, 92,33, 84 ¢

(1.5 points) Let A = {1,2,3,4}, B = {1,2,6,7} and C = {1,2}. Tell whether each
statement is true or false. For each false statement, briefly explain why it is false.

(a) CC—:B T-\:Zué', E\/E/zb gLemeoT OF C 8 ALlo AN ELémieT OF B

() C€4 e Tie ser Cas wor Av elomeot of A The

ELomew Ty oF A AR NLOMB2S, NOT 1ETS.
(c) C~A

FALS,E. CAuc: A AnrE MOT AN \"\ CoRREIQONQLICE

Recause N (A=Y 4no n(c) = Q.



